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And what if one who is not redeemed with 779X goes out with 2w, etc.

Overview

"2 states that the word 71982,2 teaches us that a 1517 7911 can be redeemed with 79K
(meaning by his relatives), but is not freed after six years. The reason we need this
exclusion is because otherwise we could have made a 1"p. If a HXW°% 7511 who is
not redeemed through 79X (relatives) is Wwa Xy, so a 212 72n1 who is redeemed
with 798 should certainly be wwa X% (therefore the word 79X excludes ww). Our
Moo (initially) challenges and (then) reinstates this 1"'p.

n1voIN asks:
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And if you will say that an ‘inherited field’ will disprove the 1"p for it is

redeemed with 7R, and it is not redeemed with ww, so -
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I will also include one who is 23% =921 that he too (even though he is 79%a “xa,
nevertheless he) is not ww2 Xx». This should refute the 1"p.

Mo offers a support to this 12"’

' A marginal note suggests that this '01n should precede *%»X 71"7 '0n (and R 7" 71N).

2 This is in the P05 of (73,72 [72] X P*Y) A2X2 YR X2 a1, which is discussing a 987> who is sold as a slave to a 21
(who may be redeemed from the *721 by his relatives)

3 The logic of the 1"p is that it is evident from 7% w7 7911 (who is not 7982 X3, but is Ww2 R¥P) that it is easier to be
wwa R¥Y than to be 7782 981 (as evident by a PR W2 10m1), therefore one who is 7782 PR3 (a 7217 10n1) should certainly
be wwa Ry

4 A annR 77w is a field one inherited from his parents (and they from their ancestors back to the time of the division
of HX W 7R by 11 12 yw). If one sells his annx 77w (the field reverts back to him [automatically] on the following
92r; in addition), the seller has the option of redeeming his field by repaying the buyer (pro rata) the amount remaining
till 22v. [If for instance the field was sold ten years before the 221 for a thousand 117 (which means a hundred 227 per
year), and after four years the seller want the field back; he may redeem the field by paying the buyer six hundred
o117 (one hundred per year for the six remaining years) and the field reverts back to the seller.] The relatives of the
seller may also redeem this field [it is 7982 2X21], as the P09 states (712,72 [72] Xp*1) that X271 1INNARD 921 AR T %2
PR 007 DR 2RA 19K 21720 1R,

3> The field does not revert back automatically to the owner after six years transpired if it is still before the 7ar.

% The logic of the 1"p (see footnote # 3) is that Ww3a XX is easier than 7982 7x31 (we derived this from a 58w 75n1),
so therefore whoever is 7982 9Xa1 (a 1217 15n1) should certainly be wwa %X31; however from AnnX 772 we see that this
is not necessarily so, for a 1R 77w is 7782 9831, but not wwa X1, the same should apply to a »121% 1011 that even
though he is 7982 PR3, nevertheless he is not wwa R

7 One might argue that deriving and comparing a >331% 7911 to a X2 1311 (where both are people) makes sense, but
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For indeed later we bring proof from a slave to a 711X 772 and from 770X 77w
to an 72Y. The question remains, we can disprove the 1"p (why do we need the 79x2).

N1B0IN answers
- 10Ya AN NPN 1Y MNIND NN AN NPN 1Y NTYY 113 79919 RIINT 99219 U

And one can say; that we can refute the 7°21°; why is it by a field that it is not XX
w32, because it is not X2 with the death of the master, therefore it is not IRxY

wwa -
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Can you say that by a >121% 9221 who is 777877 nno»2 82, therefore it is justifiable
that he is wwa RXY.

Summary
We cannot make a 1°21° from a nnx 77w (that it is 7982 X33, but not wwa nRXY),

since a nMNR 7Y is not NTRT NN AR (as a >335 oMl is).

Thinking it over

mooIN proves that we can bring a 1 from 77w to 72V, because later the X na
compares 772 to 72v. However there we are comparing them through the " of
(w"»v) 1IR3 IN7IRA; how can we compare a w13 (which can be from different topics)
to a 1" from a 1"p (which must follow (some) logic?!!!

how can we bring in ‘a field” into this formula; a field is (seemingly) a totally different concept.

8 The X3 there queries whether a >121% 79m1 is 1%¥17 781 (he is paying for half the remaining time he needs to serve)
or not. The query depends on whether we can compare >71317 1911 to a 1K 77w (which is not PPRXAY YR3) or we
compare them only X777, but not X . It is evident that we can involve TnR 77w regarding a 1317 1511, See
‘Thinking it over’.

% If the buyer of the field (the '17X") dies before 227, the field does not revert back to the seller; the buyer’s heirs inherit
it (until 92y, when it reverts to the original seller).

19 There is the original logic of the 1"p (derived from X% 72m3) that Ww2 KXX1 is easier than 7782 9X3, so therefore
anyone who is 7782 X1 should be wwa X3 (see footnote # 3). The fact that we find by a annX 77w that it is 7582 X
and nevertheless is not ww2 X¥1* does not disprove the initial logic, for there is a reason why a 71X 77w is not XYY
wwa (which does not apply to a ™21% 19m1), namely that it is not 7x%Y (it does not revert to the seller) with the death of
the buyer. However since a »1217 1011 is 11787 nn 2 Xy (the death of the buyer), therefore the original logic holds that
he should be wwa xx» (since he is 7782 PXA1).

1 See 1093 71" 2,5 NwOIN.
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